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Fart Il - Scholagtic Aptitude Test.

Time allotted to answer the
questions in this parl (91 to 180) is
90 minutes. Marks to this part is 90.

Answers to this part to be shadad
in the appropriate hox in the
“Part-ll Scholastic Aptitude Test”
portion of the answer sheet in
which answers for part-l have besn
shaded, using Blue/Black ball point
pen.

Write your Roll Number {Centre
Code No. and Si.No.) very clearly in
tr!e_ question booklat (Only one
digit in one box) as glven in youy
admission card

For example, a student appearing
from Centre Code No. 0102 with
SI.No. 008 will have to write the
Roll No. as follows.

Roll No.
Centre Code No. Sl.No
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Other Instructions
Reéad Carefuiiy

Wrile only candidates Name and
Roll.No. In the zpace provided in the
Answer  Sheet and affix your
signsture.

All questions are compulsory.
Sinca tha time allotted to answer is
very limited, you should make the
best use of it, by not spending too
much time on any one quastion.

Choose the comect answer from
the options given for each
question and shade the
corresponding box with blue J
biack ball peint pen, in the answer
sheet.

In the Answer Sheet if you shade
more than one answer number or
if you overwrite or delete the
answer number, no mark shall be
awarded to that answer.

Two blank sheets have been
provided at the end of the question
booklet. Use It for rough work.
Answers on these pages will not
be considered for Vaiuation.

In future for correspondence, if
any, quote your Roll No.

{Centra Code No, and Serial No.}
without all.

iR sinemar :90/Marks: 90

This booklet coniains guestions as given below:

um_siuser / Subjects

1 gofigh / Mathematics

L gyfiefud f Sclence
3 sops opfsdlesh / Social Science

shleny sraimadr /Q.No.s

e ey
21 10
" 135
45 180
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semflgn / MATHEMATICS
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91,

2.

93.

Us,

Which of the following statement is

Incorrect

(1) Sum of twa natural number is a
natural numhber,

(2) Sum of two rational numbers is a

rational number.

(3) Difference between two natural
nombers is always a natural
number,

(4) Difference between two rational
number is a rational number.

Which of the following has ue

multiplicative inverse?
) 5 @ -1
>

30 1

The number of rational numbers
berween any rwo rational numbers iy

nz )0

(33 (4) Very large
Ifa™= (47 then a =

(12 (2)-2

3)4 {d) 16
1+3485+74+ 0. +99=

(1) 50° () 51°

(3p49° 4r1on®

The square root of a real number is
greatey than that number thea the
given number is

(1} less than or equal to 1

{2) less than 1

(3)equalto 1

(4) greater than 1
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1)5,5.5
(32,3,6

2)3, 4,5
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97,

98.

100.

101,

102,

The digit in *he unit pluce of 197 i

26
@1

(s
39

The radius of a circle whnse quadrant
perimeteris (T +2),Is

(1 r
(3)2 (44

Which of the following statement is

incarrect.

(1) Any trizngle is a polygon

{2) An equiiateral triangle is regular
polygon.

{3) A rectungle is 2 polygon.

{4) A rhambus is a regular polygon.

Tn a figure, a Square is surmounted by
4 semicircle, if the radius of the seml
cirele is r thea the perimeter of the

figmre is

(2)ar + 8r
{4) nr+3r

(1) 7t + 6r
(3)ymx +d4r

Which of the tollowing sets of sides will
pot form a triangle?

(15,58
(3) 1. 3| 6

13,4,5
(4)5,5,7

Which of the following is essential to
draw a quadrilateral?

(1) Three sides and one diagonal

(2) Three sides and one angle

(3) four sides

(4) four sides and unc aogle.
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103, Agemim imessafid: g RN Garsoa

B0,
u)%n 2)x+2
Bx-7 “4)2x-1

104, B)rn hewes srovoranilon o (Bmgpin gymer
WL apuh el sl s g

1,4 )33
@) 4,4 42,2

IS, Séamamusnaefs g ewsi
260 ?
(1) {a+b =8+ b® +2ah
(2) (a=h)y*=2a’+p*- 2ab
(H(a+bya=b)=a -b
@ {a+b)(a+b)~§

106. 13* =164 crarfied x =

{12 213
{33 1
107, (9 +(.1°+2(.09) =
(1.1 2).9
{32 1
108, (X +6x+9)=(x+3)(x—a)esfleda
qstug
{1)-3 ()3
M2 @ -2
19, fax’ +bx+c)=(x—d)(2x +5)
sl b =
{(Hh-3 (2)3
7 (4)—8
110, 1 . A .
=" LR (X e Qud Clusn)
1) 8® Sy = sw(
(2) frey demLsimgy
(3) 2 Simyasi s ew(E
@) oiBmwren Fiisyeai 2w Gl
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103,

104,

LUS.

106.

7.

108,

109,

110.

Which of the following is not a
hisiomial?

ml-3
X
IHx 7

2)x-2
@ 2x-1

The sum and the product of two
positive numbers are same. lhe
numbers are,

(14 (2)3,3

(3) 4,4 422

Which of the followmg is an equation?
(I)(:+b) "x +h’ +2ah

(2) (x- B =a"+h*- 2ab

B tath)(a-bh)=s" -1’

() {a+hiia+bh=%

13* = 169 then =

2 (2)13

{313 41

The value of (.9Y + (. 1)* - 2(. 193 -
(13.1 2).9

(%2 @1

(x*+6x + 9y=(x+3 ) (x~+4a) then a is
(1) -3 2)3

32 4 -2

f(ax"+bx+c)=(x 9i2x-5)

thea b
=3 3
37 4) -8

:  has (2 is 3 resl number)
(1) onc selution
(2) twao solution
(3) 2 solution
(4] more number of solutivns,
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2flefliwe - SCIENCE
111, a@fwrer QuimSsn 111, The Carveet muteh of the following is

JRilumesm susmes sair TRyt (3 Type of ireigation Example

I} Cgéw = A) Qe A 6‘2 Tf%.rm?_ - A) Paddy
giiuresmn irrigation fleld

i} envamiy -~ B) smiy ii) Busin - B) Sugarcane
uTESTD irrigation

i} Qaeafiiy - C) SAmmienr fif) Sprinkler - C) Grapes
i Femin Irrigation

iv) Qem@ - \D) H%MI iv)  Drip - T TFawn
e irrigution

1i-C, ii-B, #i-D, iv—A
Pi-4, ii-B, {§ii-D, iv-C
{i-B, 1H-A, ii-1, iv-C
{4)i-B, ii~C, iii-A, iv-D

ol
-
e

|y avnad srambiserie rREgsan §
{0 uCLmemfl (2) Gwsd
(3) Cargismwn (4) Gawsmd

113, o wedigamide aemidd apriGorsr
L ST BLNTATR o atrTaig.

() @smargasmens  (2) ausmidiens wrHmne
G ;ECmlwes) (4 SniLs
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112,

114.

(1Mi-C, H-B, W-D, iv-A
()i-A, @i B, i D, I C
MiCe; B~ W=D, ‘W-C
(4)i-B, §-C, iii-A, iv-D

An example for leguminous planet iy
(1) Pen (2) Paddy
(3) Whueat (4) Maize

. In adults, cxcesy seerction of growth

hormaone leads to a condition called

(1) Dwarflsm {2) Metabolism
(3) Agromegualy  (4) Gailre

The incorrect statement with respect tu

fungi is

(1) May be anicellular or multi cellular

(2) Have chlorophyll and prepare their
own food.

(3) Their body is made up of hyphae
called mycelium

(4) Reproduces by sexual or asesual
method.

. The evergresn srnamental plunt i

1) pinus
3) Gnetum

2) Ephedra
4} Araucaria
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17,

Cymimeir urayh ey
i) aner - A} Cemgd
) QL smer - D) smukssr
iii) dsised . () gEpporar
iv) Ggoglpml - D) sQaixgsafidr

Ay

Mi-¢, i-B, #H-D, W A
2)i-C, H-B, i§ii-A, iv-D
@Gyi-n, §i-B, iii-C, iv-A
#Hi-B, i-C. ibi-Dn, iv—A

118, sl 2L Al mremmiuL depu s

(Esmomem erguihy
() smany erguiny  (2) @gmmem _ argibyy
@emnegeiy (@) waiwen g6 srgyty
e, ofuwar Quessso
fHire e Rar sREgIHam. [
h me A) uppriens
[ R0
i) EVelB - B) somdess
gLy
il oxpie - 0) s e
[0 STEALY
vy yaryl® - D) SE0aEoy
(MI-B, H-C. fGi=D, ih=\4
(2)i-C, ii-D, iil—-B,. iv\A
3Yi-A H-C, D, iv-R
@i-b, ii-4, iii-B, r=C

388/ 1le~7~2-0,
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116.  The conversion of sugar solution

infa alcohwl with the liberntion of
carbon-di-oxide is known as
(I) photnsynthesis (2) canning
(3) Fermentation  (4) Dehydration

The Correct Match is

117.
Discases Modes of
Transmission
i) Cholera - A) Contact
(Yeetor)
M) Tetanus - R) ¢utsand
wounds
iil) Leptospirosis - €) Contaminated
water
) Leprasy - D) Contactof
animal's
urine
i C, ii-B, ili-n, V- A
@Di-C, =B ili-A, iv- D
Di-D, Li-B, §i-C Iv—aA
(4)i-B, ii-C, iii-D, iv—aA
118.

1o,

The largest bone of the human body is
(0 !_icapnla (Z) Thigh Bone
(3) Sternum {4) Cranial Bonc

:rhc tarrect match related to synovial joing
is

Svnovial Joinrs Example
) Balland = 4) Elhow

socket joint
i) Hisgejoint < > B) Tarsal Bones
iii) . Gliding jolnt = ) Atlas and uxis
iv)  Fivorjoint - 1) Hip Joint

(1)i-B, ii-C,

fi-D, iv-A
2I-C, ii-n, ii-B,  jv-A
(3)i-A, ii-C, {i-D, iv-B
Hi-D, ii—4, i-B, jv-C
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120,

122,

124.

115,

126,

127.
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120

121

111,

126,

127

The outér layer vl a bone is cslled

(2) Periostenm
{4) carlilage

(1) Bone marrow
(3) Teadons

The air pellutant, that reacts vyith
hueswogiobln In human blood and gives
carboxy hremoglobin.

(1) Carbon monoxide

(2) Carhan di exide

(3) Nitroget di oxide

{(4) Sulphur di axide

The addition uf kot water to water
bodles upsets the natural cycle. Thiy is
called

(1) Lund pollation

(2) T hieymal Polfution

(3) ozone depletion

(4) Air pollution.

. The smaltest particle of an ¢lement iy

() Atom
{4) Compuunds

{1) Matecele
{2} fons

. ‘The maost sbuadani element present in

earth's erust is
{1} Ataminium
(3 Iron

(2) Nilicon
{4) Oxypen

. The gas which helps to Xeep swimming

pool clesn is
(1) Hydrogen (2) Chlorine
(3) Oxygen {(#4) Nltrogen
The symbel for the element *Arscnic’ is
(1A (2) As
{3 Ar (4) Ac

A molecule of ozonc cansixls of
{1} One atom of nxygen

(2) Two stams of oxygen

(3) Three atums of nxygen

4) Four atoms of Oxygen
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130.

131.

132.

133,
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i gusD
f)  Qeusrsfl
ili) 1 M0 Er

v Qumgf

(i-C. ii-A, <di-B, \ \iv=D
H1-B, #1-C,\ \fii-A, iv—-D
B)i-D, #-C \ WA, \'ik-B
@i-D) u-C, | W-8, iv-A
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118.

130,

131,

132,

133,
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Quick lime is

(1) Calclum oxy chloride
(2) Calclum Hydroxide
(1) Calcium carbanate
(4) Calcium oxide

. The common name for

*solinm bicarbonate’ is
(1) Boking soda (2} Baking powrer
(3) Washing soda  {4) Bleaching powder

Law ol definite proportiens was
prupused by

(1) John Dalton (2) Demaocritus
(3) Joseph Louis proust  (4) Lavoisler

Praton was discovered by
{1) J.J.Yhomson

{2) Goerge Johnstene stoney
(3) Gold stein

(4) John Dalton

Which of the followiny statement is

incosrect reparding properties of

cathude rays?

(1) Cathode rays travel in straight lines

(2) Cathode rays are made op of large
particles, has mass and kinctic cacrgy

(3) Cathode rays are deflected by
mugnelic field.

(4) Cathode rays depend on the natare
of the gas ingide the tube,

Tl Correcl Match of the follewing is

Name of the Sviabal
glement

iy Gold - A) W

iy Silver - B Hg

iii) Tungsten - ) Ag

i¥) Mercury - D) Aun

Mi-C, ii-A, iii-B, Iv-D
@i-B, H#-C, iii-A, =D
@i-b, N-C, ii-4,  iv-B
@i-D, @ € ii-B, v-A

136,

P38

10
. Qa6 Fredl, st s 2 ghesh
ualibely Jah apsgib auflowsiio ¢
Crulafivos
(0 Efldr Gandiflens
(2 Bfd &_anp Hana
{33 fiemn lesimad)
) snfiéafAnliufia,
goflFad Qalufsnn
{11273 (2) =273%
{37100°C () 6"
mfharveer Gongyad
IR Si _awmiz
(1 el - A) Geswmgeun
1)\ Gummair - B) Qmdefid
ey
i pelbleiy - C) e
ivi Seop - D) &Cer A

(pi-B, di-aA, #-D, iv-C
@i=¢, i-b, H-& Iv-B
MNi-n, fi-B, §Hi-C, I-A
($1i=R, fi-C. -4, ivr-D

@n Ostas  apaFeenipds u
Hrazh Hrodysreg. QB fldr 2 wmh 2:3
uirflafid SLithE 800 BV, Unfiniis

yDEsgde  wdhy 1R evark
s, FQpmipuldr glelugdan
DHPSE0 maniera BdEh?

{2) 160 N/m?

(1) 16,010 f\ o’
{4} 4000 N/m*

{3) 400 Nim’*

ysB:8ieflgs figs et Guben Geiaitsan

wsfingm s Sighsdfid oy

0 afafiadng (@) emmuding

(3) exflunebing: (4) omfstlura: e.sTegi.
a3 E-1C
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138, The femperature st which saturated
water yapour, pure water and meltlog
ice ‘greall In equilibrivm is
(1} Bailing peint of waier
{2) Freezing point of warer
(2} Triple point of vater
{3} Absolute zery

135, Abhsolute zero with respect (o
temperature is
(1)272°C
(3) 100°C

{2) 273%
) 0°C
136, The Correct Match is

Dunntities Unlt

i)  Temperstore - A} candels
) Amount of « B) kelvim

substance

i) Lomhous - € omole
intensity

v} Muss - D) kilogram

{Hi-B, fi—A, #@-D, W C
@i C #-B, ili-A, iv-B
3)i=D, #i-RB, §i-C, iv-A
(4i-B, it C, Wi-A, iv-D

137, A vectangular storage tank is filled with
paratfin, The height of the tank is 2m. If
the densify of paraffin is 800k and
the value of *g* in 10 N, then the
pressure at the bottom of the tank is?

() 15,000 Nim®  (2) 160 N/m®
(3) 400 N/m’ (4) 4000 N/m”

138.  As one goes higher and higher aboeve the
earth’s  surface, the atmespheric
pressure
(1) Increases (2} decresses
(3) becoines zero  (4) hecomes constant
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140,

141,

143.
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FitESUGED
(2 @i amizeaneE GG o drsr aflms
3 %ﬂl‘m’ WWW Garivenl sfigpgh
(@) smsoditgi aurimpuikin sdhemrg St
@ere_ G o sirer 2 mmise nflame
ol JSEERS DTS
uLsTUHLE sl
M ahfef Conmax I L
{3 unmarefi (4) Pincosf
JCB Caems Dabiund mminin
{astrGameing)
(D unulisi: &A1
@ amedy )
{3) umennd afid
(4 B weflsdr el mituyels
. UikiTe S&T QeSS SODEIEEM 6
() eegmii (2) e_soffi
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sfiimar GuTGHH0
H ECrnbud - Ay grefudfied
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i) Geauirefbld - B)Y ms&sesmma
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Glmhas
i) fseh yams - D) emuni®
Gusman i)
L i@®ip
Qo). ssir,
(Pi-C, ii-D, iit- B. iv-4A
{2)i-4A, Hi-B, 1i-D, iv. C
{H1-R, H-N; i - A, v
i-4A, i-C,\ =D, iv-8
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An example for contsct foree iy

(1) # comb attrscting bits of paper

(2} attraction befsveen two magncts

{3) falting of a coconut from the tree

{4} Friction belween the rosd and the
tyre of 8 ear.

‘the instroment vsed to measure the
atmaosphieric prassure is

1} Ammcter {2) Yultmeler

{3) Baromoter (4) Hydrometer

Karth excavators (JCB) works on the
principle of

{1) Bovie’s law

{2) Charle's Law

(3) Pascal’s law

{4) Newton’s law of gravilaiiun

An exwmople for poor eondoctopof
clectricity is

(1) Pond water
{3) Mistilled water

(2) Sea water
(4) well water

The correct mateh of the follnwing

Naine of the Blsey
pluting

iy Chromium \ -\ A) Awfomabiles
plating

i} Siiver </ B) watch<ases
plating

iiiy Gold plating - C) Bath iaps

iv) Nickel - D} tableware.
plating

(Hi-C, ii-D, JHi-B, iv—A

2)i-A, #i-B,  fi-N v.-C

(3)1-B, i-D, Hi-A, iv-C

@Hi-A, H-C, W-D, v-B

144, Curmirast Ssramioh QupiCeg s
Que sl wiCnn s Gurs i
widpiuFn
(sl menas  (2) yEImLmsirasr
@O TmiEssT () oy

148, dsané gmbdow sd @il doar
(0 Qugssdlss Gymeidefsr
{2 Cpiosvmum’
@) mnig; e Gl
(@ sowé Gk LmTGL.
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During the process of charging. which
particle yets transferved from one object
to another?

(1) Flectrons
(3) Neuwtrvns

{2) Protons
{4) Atoms

Lightning arrester was invented by

(1) Benjamin Franklin

(2) James watt

(3) George Simon Ghm '
{4) Michael Faraday

#ews 2yflafiue / Social Science

146, sthumer Qurgs s

iy Qe - &) dawef-
Qurgeursr fB-@inega

ii) @mgm e ) Sarafl -
@umgiiuevent 8-aynss

i) Qaallupe, - €) Sarafl-
gngned B-sflsmg
Gungiiemey

) gavern, - D) #oni-g-
Eip gLl @rerng
Curégauhm
Quimp war

Mi-C, h-D, ii-A, iv-B

Mi-C, i B, lii-D, tv-a
@i-n, {i-C, ii-B,
i-B, ii-a, #H-C iv-a

147, semmenon Quinise) Kbdasgg
Sl g moiy
( 1L & sty Doragad
(2) g winfnus styuert
(3) e Eruea (pemmesisT gl
(@ Cangaligat mamn Gy
IrafenTa ALY @ o Rt S,
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Find the Currect March

i) Inchargeof - A) Diwant-i-
income lnsha

iil Tmcharge of - B) Diwant-
Army Arish

iy Yacharge of - C} Diwan-i-
Ambassadors Wizarut

and I nvoys

iv) TIncharge of - D) Diwan.l.

Royal Rasaly

Froclamation

and

disparches
(i-C, i D, il-a, ir-B
(2)i-C, #-B, ii-D, iv-A
@i-n, H-C, ii-B, iv=-A
}i-B, ii-A, iii—-C, ir A

With respect to Shabjzhan which

of the policy is incorrect.

(1) Prince of builders

(2) Build Jama Majid

{3) Father of Modern Currency

(4) Peacock throne with Kehinour
dismund,
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€ sy @ ayfifder
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Sy daluEuRIT
(9 2 Lompeir (2) et
@ Ggoy 1 Sngtog

150, “gdsmvw L Grmi! sremiue et
() Fsurg)
(& apiFaETsT
(3) @i smer
(4 ozl QemsmGgeu

s  glEsD

(2 AL 1797
(@) B8, 1795

151, AmusaCiger
Earant e
) AL 1779
@) A% 1782

152, amemiumus SO dos qiuGiumt
(1 amsrfis Sy {2) e sorumelbio By
(9 filyy ssvgmar  (6) CrusiEauevsd] my

152, Uiiwd ST BEAT Uy SYhSIE
AydARus sobLsuidr eflumum
e fkeid
() 20 uenBaEyde Pedeiul g
218 sy SaEETHS figsai L g
(3)22 eI HE Fi dalulLg
() N gyanGomE Erésiu Lz

1534, Eussrapi Mdoharasisn sz

Cameugdii SAGHED 2D

(1) 1822~ qutimmmds (ShGESF Tl Grng
PennGaxdyfll eflnwsm Alsaflsr gsumard
umgamngmf,

@ SriBuralc Hewsuwmar S

@memi 2 csdlarnmi
(3) 18170 ubsép'nﬂdl S5 SRR

4 ‘eondzmi ugﬂ“éo& 6TEmy
Qoiidszrer Qausflan amymmars
Bopprit
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‘The continent in which the cape of Good

Hape located.

(1) Europe (2) Africa

(3) Axin (4) Austratia
Fore-Runner of Akbar

(1) Humayun (2) Babur

{3) Hemu (4) Shrer Shah

Who was clied as *Deccen Ulcer”

(1) Sivajl

(2) Afsal Khan

(3) Sayistakhzn

(4) Dudaji Khonda Dev

Treaty of Srivangapatnom signed on
(1) AD 1779 (2) AD 1797

(3) AD 1792 (3 AD 1795

. Snbsidiary Alliance was introduced by

1) Lord Cananing (2) Lord Coruvwallis
{3) Tipu Sultan (4) Lord Wellesley

According o charter Act the trading
rights of the East India Company
extended up to
(1) 20t years
(3) 22 veary

{2} 18 yrary
{43 21 years

Which of the Following in not Lord
Warren Hastings reforms
(1) passed Bengal Teancy Act in 1822
1o protect the interests of the tenunts
{2} Created a permanent pulice force in
Tndia.
(33 In 1817 a College was opened in
Calentta,
{4) Publisted the firat vernacular
newspaper calied of *Samachar
Patrika’

155, uefly grih Gan'me sLLOUL o @G
(D L5, 1639 {2) &.9. 184D
(3) &.5. 868 (4 &L 1869

156. grRuETmaG alipu Hamvmwd A,
0 grimb (2 a-eugmh Gepr
(3) ansear @) ufs

157, g@_t.nm Brurd sbua Paped pLis
1]

(1) Clrstranew 2) sdmban
(3 qpibsou (@) Gurkaseemit

158, Sgrur ey SHmPSSOUC Lt
{0 Bl yemoss
@ Drgyie smwder
) esirgienn semindad
@) Dggis sEnssat.

150 u.u@auu aregdh L wiéE s b (1813
et it SfepalGEsiulL g ?
{1 sumyeir Come gt Sy

160. porn-Quradegsntw prafan
ST L oyimed s1Qeunf)
0 Fig @) mpsd
m ua'om {4) ks

161, guar usim_ s wilEde rDggssn’ @
Oussa {2 Gergmmun
(3 s (@) Qe

162, 3¢ Qapaefisr CaumsE gypsmonid
Cepds0uE0 (pepullsr Gt
() smeosunm Pi'n wraamb
@) Gem & grlumesma
@) Gpafiumer ureamb
(4) smané s’ Lwaama

163, Geaelmeo suamigs Gpsnauwmer syar]
Gavuflme

(1) 24" @) 30°c
32 @) 21" -30°c
338 ;’ ll& a u“
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I55. - The year In which the fort St. George

was build.
(1} AD 1639 (2) AD 1640
(3) A 1668 {4y AD 1669

156, The Cief aechitect who built TajMahal
(1) Kusrum 2) Ustad Isha
(3) Khalsa (4) Farld

57, The place where ¢ Black hole tragedy
way happened.
{1} Chennai
(3) Mumbai

(2) Calcultu
{4) Bangalore,

148, Who was called ay *Peshwa’®
(1) Finance Minister
(2) Army Minister
(3) Home Minister
{4) Primie Minister

159.  In whose perind the charted Act 1813
introduced”
(1) Warran Hastings
(2) Corn Wallis
(3) Marques of Hastings
(4} Sir Julhn Shorer

160. Hursppa and Mohenjo-Daro civilization
was seen in River Valley

(1) Indus {2) Nile
{3) Euphrates {4) Ganga
161, Which one is example of Tropival crop?
(1) Cotton (2) Wheat
(3) Currot (4) Rice

162. Which pracess is used the water is
delivercd near the root zone of plants
(1) Ditch Irrigation
(2} Drip Irrigation
(3) Sprinkler Irrigation
(4) Centrul pivat Irripation

163. Tea requires an average l'emperature I8

(1) 24°C

2) 30°C
(3)21°C

i4)21" 30°C
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. The fuel that launched the Industrial

revolution is
{1 Oil
(3) Firewood

(2) Trom
(4) Coal

3. Which vne i incorrect with respeet (o

the condition for the growth of Jute.

(1) Temperature falls below 30°C

(2) Higher than 150cm rainfall

(3) Alluvial sofl is ideal for the
culdvation of Jute.

{4) Higher than 30°C Temperature

Generally height of the sugarcane
(1)1.5m (2)2.5m
(N3Ism @45m

Which oune of the following s not g
cottapge Industry?

(1) Stationary Ttems prepared

(2) Mat weaving

(3) Pottery

{4) bamboo, cane products.

A major user of wind energy in the
world is

(1) Australia (2) Africa

(3) Europe (4} Asla

Which country is the lurgest user of
nuclear power

(1) Canada [Z) Nambia

(3) Kazakistan (4) France

‘I'he place in which abundant food for
fish in the form of plankten available is
(1) Continents! shelves

(2} Cuntinental slvpe

(3) Deep sea

(4) I'rencher

In which place Jaravas of Tribal Groups
ef People living

(1) Cunmds  {2) Andamun and Nicaobar
(3) Africa  (4) Rurope

16
172, wmmm Sng) 172
() efsen (&) urdroaol
3) Poréa {4) Guodseormm "
173, mﬂ&m@ar aefhold srgy 7 173,
{0 Gepmflun’s (@) By enEimu ey
(3) i Gm {4) Qerdy
174, Guomp) sypluen 18 Gk s 174,
unfariasrad s L Syew®
(1) 1986 {2) 1976
(3711996 (4) 1956
175, ek Guriain 175,
i) mepdnl epy A} Owaddent
Se 4Rl
i) SERae - B) dinpssmn
i) &MBED - ) sewn
! GamCe
V) engEGmm - D) more
B
(Di-C, i-A, iii-N, #-B
@i A, B-D, ili-B, W-C
3i-C, H-B. - A, iy
Wi-A, li-C, i - B, iv-D
176, eflumer Qu-mssdans Caitny Gatie. 176.
i) mmr..umth - A) Cebdignt
i} mraRpned - By erghgan
iilf) LsTUMTGIL - C) afwre
iv) Guflugrsemd - D) emigA
Ni-D, 0 ¢, i - A, iv-B
(dyi-r, ii-n, il - A, v-B
(3)i-B, n-A, =D, v-C
i D, ii-B, Hi-C fv-4A
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P56 b ® S i syfiflasinn L 177,
Qg

(1) 1945 - 1950
{3} 1956 - 1961

(2) 1951 - 1956
(4) 1947 1952

38806~
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12, The are of aluminium is
(1) Soiphar (2) Bauxite
(3) Coal (4) Magnatite

The mineral fucl is
(1) Thoriom (2) Asbestos
{3) Nitrate (4) Copper

India was divided in to state bused on
languages

(1) 1986 (2) 1974
(3) 1996 (4) 1956
The correct Mutoh is
i1 Mount Abu = A) Prgbudes
warar
Temple
i) Tanjore - B) Church
id) Kancheepursm - C) Jainism
I¥)  Santhome - D) Kajlasanath
Templc
HI-C, ii-A, ili - D, iv-R
2}i-A, di-D, MW-B, iv-C
@i-C, -8, -4, iv-1
Mi-A, i-C, iii— R, iv-D
The Correct Math is
it  The - A} Sekkizhar
Rimavana
ii)  Kalidasp - R) Sokanthalam
ilf} Maha - C) Yeduvyass
bharathan
ivl Perlya - D) Valmiki
pPuranam
Mi-n, #-C, Ji-A iv-B
@i-C, i-b, fii-A, iv-B
{(3}i-B, ii-A, iii-D, v - C
i oD -8B, ii -, iv-a

The first five year plun introduced in (he
year

(1) 1945 - 1950
(3) 1956 — 1961

(2) 1951 - 1956
(4) 1947 - 3432
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2 0 T Minister who
178, Qandmsow weopaiy orDfluenss 178. The name of the Prime :
mw?u'r . abolished the bonded labour is
3 S, @A snhdl 1) Mrs, Indira Gunidhi
2 fmmeusminres Gpm 2) Thirn.Jawaharlal Nehru
3) . sungaumh 3) Thiru. A.P.Vajpayee
&) Fi. Erebegws 4) Thiru. Narasimah Rao
[1r (S 179, The correct March is
= e i BlackBoard - A) 1991
0 Operation
- 91
D QQPMWM AL 2 iiy Minimum - B) 1986
P4 & Tevel of
b 0?] e Learning
& ST W) National - © 2002
il Cptu akells - C) 2002 Lducationnl
" Pulicy
iv) gmangdEh - DI 1992 i) Educaronte - D) 1992
el all
Mi-C 1i-B, ii-A, W-D ‘(1yi-C i-B, ii-a, iv-D
2i-8, ii-C, Q-4 iv-D (2)i-B, H-C, ili-A, iv-D
@i-D, ii-A, W B, iv-C @®i-D, U-4A, d-B,  -C
@i D, #-A, ii-C, B @i-D, ii-A, il-C, iv-RB
180, FPwrsn WunGSSL 180. The Correct Match Is
. . i UNOwas - &) 1997
A S I established
2y on
i g dgma - B) 1961 #i) Hinduwidow - B) 1961
InaseTY & remarrisge
LD Act
iil) A N Gl iy The Dowry - €) 1948
R prohibitlon
iv) Quesrasner - D)y 1856 Act
Gased
QEbausn Iv) \The Eve - Iy 1856
Bpés nlLb Reasing Law
(yi-C, ii-D, §i-B, iv-4 2 - _ R
(yi-b, §i-C, W-B, W-A ti:i:g ;:_2’ :::_,';: -:_A
=B MG 3)i-8, N-C, il-A, D
(@i~-B, it-D, Qi-C,  iv-A D R atn W-e hok
Arr————
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NMMS - SAT Exam Answer Key for 2012 Question

o QN GNE S 6 DL g ueud| upen;
el Y5001 (2015,4516)
01. QW S (LM sTaugeailss Fo (60 2 8 1 4
SO NEHUPDHT eT6wor
92. 0 3
93. &AW sTetoTsmN&ens 4 8 1 14
2= (4)-4
a’® =-(4xdxdx4)
2 =4256
9. | _2x2x2x2x2x293X2) = - 256 1
- 256 =-256
a=2
1+3+5+7 +22 + 99 =
(n+ 1" =(99+1)
95. D) 2 1
= 50’
96. 1-5@ GMMEUTE @\(IKHGLD 2
19°=19x,19%19x 19
19*=N9x 19x19x 19
97. 19=130321 (lay L @eoésd) 4
=1
98. r 2 8 1 63
99, @allleur(p FMUFHITOL @ 3 8 1 67
PURIG U CHTHMNGLD
100. L 3T - 8 1 70
101. 2,3,6 3 8 1 89
102. 4 USSRISET , @(h CHITEUILD 4 8 1 108
103. L3 1 | 8 | 2 | 5
X
104. 2,2 4
105. (at+b) (atb) =5 4 8 2 18
13" =169
13°=169
X=2
9x.9=.81
107. Jdx.1=.01 4
I9x 2=.18
1.00
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XZ + B 9=(x + 3) (X —a)
N6+ v36—4X9
2x1

=-6
2
=3

—(x+3)(x 3)

“109.

(ax” + bx + ¢ = (x.= 4}'2x + 5)
£9%° +5x 8x —20
= 2x°+ 3x - 20
b=-3
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